(n+1)pt+(n—1)g
(n—1)p+(n+1l)g

1/n
= (%) . Hence find

If pis nearly equal to gand n > 1, show that
9 )1/6

the approximate value of (ﬁ

SOLUTION :
Given that p is nearly equal to g, hence assume p = q + h, where h is very small.
Then,

(n+)p(n—1)g _ (n+1)(g+h)+(n—1)q
(n-ptntl)g  (n-1)(gth)+(ntl)q

1+ 2 )
__ 2ngt(ntl)h 2ng

=l ML n>1
2ngt(n- 1)k 1+(ﬂ)h ’
9ng

() 52 (2 ..
are neglected.

Therefore, E:J:Bi E::ng = [1 + (’;_:1‘) h] [1 _ (";_;;) h] —1_ (';;ql) h+ (f;:;) h— (ﬂ:zg;*l) B2

(n+l)p+H(n—1)g (p

T (n—)pt(ntl)g ~ \ ¢

Putp=99, ¢g=101andn =6

1
99 V5 __ 7x9945x101 6934505 1198

101 5x994+7x101 ~ 4954707 ~— 1202




